
14,4.3
#1 thm 1 /Thm 2.

X =cos O

Let W
=xy +

y + x=and: y
=sim Q

&

z =02

1.1 Express - as a function of 0.

1.2 Evaluate /o= :
, )

soln
-

1.1 +qw =f(x,y,z)
X -

N =w+2 +G
by

↳ ↳

=(2xy +z))-sino) +(x2 +1)(cos) +(X)(2G)

Awant o'e

=12 cososine + 64(-sino) + (cH)(c) + (08)20

=- 2 cost since - O sind + us30+at +20wO

·2 (E) =(-2)(a)(1)
-

(E)
-

(1). +03 +0 +z(t)(0)
- 0 =I +0 +0 +r

-I
4

7

-



14. 4,4

2 Thin 3 land: cor4, Cor5)

Letw =xYy +y2 z3 where

x =r set

y
=rse
t

z
=rs sin t-

Evaluate s When: =2, S=1,
A =0.

↓ -:witextisthe
=(4x3y)(ret) + (x4 +2yz)(2rset+(by z4/r2 sinA)

and (r,s,t) = (2, 1, 0) getx=2.1.e0 =2

y
=2 1 =

0
=2

so
z =22 1 sinc

=0

- ="

sirsen"wire (whose
=a +2 =24(2 +1) = =



14.4.5
Implicit Differentiation Examples

=x3 Find I if x + y =bxy.

soln. x3 +y =bxy x
+y3 - bxy =0.

So let F(x,y) =x3 +y3 - bxy
⑳

----= E git-by- --- eithe
*Find if x +y + z + 6xyz= 1.

solnex +y3 +z
+6xyz =(-) x +y3 +z +6xyz - 1 =0.

So letF(x,y,z) =x
+y3 +z
+6xyz- 1

z =

=E = 3x2 torene
=- they


